PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				287,176	cords	
Hardwood				22,822	cords	
Pulpwood (Total)				309,998		
Chip & Saw (Total)				31,787	cords	
Saw Timber						
Pine				77,774,384	board feet	
Hardwood				2,142,684	board feet	
Saw Timber (Total)				79,917,068		
Total Pulpwood, Chip & Saw,						\$67,555,046
Saw Timber FOB Mill						
Total Forestry Stumpage						\$38,555,049
(Total)						
Forestry (Total)						\$67,555,046
FRUITS						
Blueberries (Total)	*	3.5	28.00	98	lbs.	\$157
Citrus						
Satsumas	*	5.0	150.00	750	bu.	\$15,000
Citrus (Total)		5.0				\$15,000
Mayhaws						
Native	*	20.0	55.00	1,100	lbs.	\$1,210
Orchard	*	4.0	235.00	940	lbs.	\$1,222
Mayhaws (Total)		24.0				\$2,432
Fruits (Total)		32.5				\$17,589
FEED GRAINS						
Corn (Total)	*	1,224.3	40.00	48,972	bu.	\$107,249
Grain Sorghum (Total)	*	600.9	35.00	21,031	cwt.	\$75,291
Feed Grains (Total)		1,825.2				\$182,540
HAY FOR SALE						
Grass (Total)	100	5,000.0	1.80	9,000	tons	\$540,000

Hay for Sale (Total)		5,000.0				\$540,000
Home Gardens (Total)	1,400	•				\$364,000
NURSERY CROPS						
Fruit and Nut Trees (Total)	*				acre	\$24,000
Floraculture & Bedding	*				acre	\$100,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$5,000
Foliage Plants (Total)	*				acre	\$2,000
Nursery Crops (Total)						\$131,000
Rice (Total)	8	2,172.4	70.00	152,068	cwt.	\$1,072,079
Soybeans (Total)	10	2,597.8	18.60	48,319	bu.	\$285,565
VEGETABLES						
Mustard (Fresh) (Total)	*	5.5	5.00	27	doz. bunches	\$189
Southern Peas (Fresh) (Total)	8	25.0	87.00	2,175	bu. (24 lbs.)	\$54,375
Squash (Fresh)						
Yellow Squash	6	4.0	75.00	300	bu. (45 lbs.)	\$6,000
Squash (Fresh) (Total)		4.0				\$6,000
Sweet Corn (Fresh) (Total)	10	15.0	400.00	6,000	doz. ears	\$21,000
Turnips (Fresh) (Total)	14	7.0	530.00	3,710	doz. bunches	\$25,970
Watermelon (Total)	50	500.0	32.00	16,000	cwt.	\$128,000
Vegetables (Total)		556.5				\$235,534
Wheat (Total)	8	666.3	35.00	23,320	bu.	\$76,490
TOTAL ALL PLANT ENTERPRISES						\$70,459,843
	DIGITED	TEC 0 TITE D	TEE ENTERDE	TORG BRODILOWION		

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE						
Crawfish (Farm) (Total)	*	45 Acres in Prod.	5,700	lbs.	\$3,135	
Catfish (Farm) (Total)	*	57 Acres in Prod.	115,000	lbs.	\$80,500	
Other Species (Total)	*	1 Acres in Prod.	150	lbs.	\$1,650	
Aquaculture (Total)					\$85,285	
Fur Animals (Total)			121	pelts	\$1,174	
Alligators (Wild) (Total)			105	ft.	\$3,150	
HUNTING LEASES						

BEAUREGARD PARISH	FISHERIES &	& WILDLIFE ENTE	RPRISES PRO	DUCTION		
	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
HUNTING LEASES						
All Other Game (Total)	50	150,000	No. Acres Leased		acre	\$1,050,000
Hunting Leases (Total)						\$1,050,000
Honey (Total)	*	550	No. Hives	57,000	lbs.	\$33,630
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES					\$1,173,239
	ANIN	MAL ENTERPRISES	PRODUCTIO	<u>ON</u>		
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				3,115	head	\$1,660,560
400-500 lbs.				1,210	head	\$732,189
500-600 lbs.				500	head	\$328,543
600-700 lbs.				133	head	\$98,000
Steer Calves (Total)						\$2,819,291
Heifer Calves						
300-400 lbs.				2,045	head	\$956,600
400-500 lbs.				765	head	\$418,505
500-600 lbs.				300	head	\$185,889
600-700 lbs.				225	head	\$156,985
Heifer Calves (Total)						\$1,717,978
Yearling Cattle						
600-700 lbs.				317	head	\$1,957
700-800 lbs.				50	head	\$334
Yearling Cattle (Total)						\$2,291
Cow-Calf Pairs (Total)				880	pair	\$861,634
Cull Cows (Total)				1,235	head	\$489,498
Cull Bulls (Total)				95	head	\$88,165
Cattle & Calves (Total) DAIRY	330	12,150	No. Cows			\$5,978,858

DAIRY						
Dairy Cows						
Milk	*	345	No. Adult Cows	6,238,741	pounds	\$1,003,190
Bred Heifers				5	head	\$9,000
Cull Cows				93	head	\$55,800
Bull Calves				159	head	\$7,950
Breeding Age Bulls				3	head	\$3,600
Dairy Cows (Total)						\$1,079,540
Dairy Goats (Total)	*	15	Total Adult	21,600	Pounds	\$4,752
			Does			
Dairy (Total)						\$1,084,292
HORSES						
Brood Mares						
Race Horses	50	310	No. Brood Mares	215	head	\$1,720,000
Show Horses	30	100	No. Brood Mares	45	head	\$180,000
Recreation Horses	78	310	No. Brood Mares	87	head	\$130,500
Brood Mares (Total)						\$2,030,500
Stud Fees						
Race Horses		6	No. Stallions	120	mares bred	\$300,000
Show Horses		2	No. Stallions	20	mares bred	\$30,000
Recreation Horses		35	No. Stallions	110	mares bred	\$55,000
Stud Fees (Total)						\$385,000
Race Horses (Total)	50			100	head	\$1,200,000
Show Horses (Total)	100			1,100	head	\$5,500,000
Recreation Horses (Total)	200			1,500	head	\$2,250,000
Horses (Total)						\$11,365,500
SHEEP						
Wool (Total)		290	No. Sheared	1,710	cwt.	\$428
Slaughter Lambs (Total)				55	head	\$8,742
Feeder Lambs (Total)				230	head	\$17,893
Show Lambs (Total)				151	head	\$45,300
Stocker Sheep (Total)				37	head	\$2,775
Cull Sheep (Total)				120	head	\$6,600
Sheep (Total)	*	290	No.Breeding			\$81,737
			Ewes			
GOATS						

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
GOATS					
Show Goats (Total)			55	head	\$12,375
Slaughter Goats (Total)			340	head	\$36,890
Stocker Goats (Total)			125	head	\$10,813
Cull Goats (Total)			70	head	\$4,200
Goats (Total)	35	650 No. Does			\$64,278
SWINE					
Show Pigs (Total)			190	head	\$54,150
Feeder Pigs (Total)			510	head	\$15,912
Slaughter Hogs (Total)			85	head	\$11,105
Culls (Total)			62	head	\$10,416
Swine (Total)	6	80 No. Sows			\$91,583
EXOTIC ANIMALS					
Deer/Antelope (Total)	*	510 No. Animals	205	head	\$25,625
Exotic Animals (Total)					\$25,625
TOTAL ALL ANIMAL ENTER	RPRISES				\$18,691,873

BEAUREGARD PARISH \$90,324,955